PCM{ii<—0 | TE— P
THAAEE—127 LAy

‘\ :
FETF—A BB ? NO

YES @

v

PCMA JI B Rt A3 #

v

A B —PCMAJIE - PCMAE

v

TR BRI BB RBDO R L - T, ADPCME % TR E

TR LR X (+14) ~8=Z{t & <+ 7 (bit3=0, bit2~0=7)

FHRIBLE X (+12) 8= LB < THEILEX (+14) =8 -+ 6 (bit3=0, bit2~0=6)

TRZACE X (+10) +8=2fL B < PRIZ LR X (+12) +8 -+ 5 (bit3=0, bit2~0=5) .
TR X (+ 8) +8=ZH (LR < THIZ(LRX (+10) +8 4 (bit3=0, bit2~0=4) T2 ML
TR R X (+ 6) ~8 =2 < PRIZ(LEX (+ 8) +8 -+ 3 (bit3=0, bit2~0=3) KA O
FHIZBLEX (+ 4) 8= EALB< THIZELEX (+ 6) =8 -+ 2 (bit3=0, bit2~0=2)

TREREX (+ 2) S8 THIZ(LEX (+ 4)+8 -+ 1 (bit3=0, bit2~0=1)

FHRIEBLEX (+ 0) +8=Z(LBE< THEIEX (+ 2) =8 -+ 0 (bit3=0, bit2~0=0)

FHIZELEX (- 2) 8=t BE< THIZE{LEX (- 008 -+ 8 (bit3=1, bit2~0=7)

FRIZEEX (- 49) S8=B{bE< FHELEX (- 2) =8 -+ 9 (bit3=1, bit2~0=6)

FHIZELE X (- 6) 8=t BE< THIZE{LEX (- 4)+8 -+ 10 (bit3=1, bit2~0=5)
FHIZELE X (- 8) + 8=t BE< THIZE{LEX (- 6) =8 -+ 11 (bit3=1, bit2~0=4)
TR B X (-10) 8=t BE< THIZ{LEX (- 8) +8 -+ 12 (bit3=1, bit2~0=3)
TR B X (-12) 8= L BE< THIZ{LE X (-10) =8 -+ 13 (bit3=1, bit2~0=2)
TR B X (-14) 8= L BE< THIZ{LEX (-12) =8 -+ 14 (bit3=1, bit2~0=1)

AL E< TRIZLEX (-14) =8 -+ 15 (bit3=1, bit2~0=0)

v

ADPCM{iE % /)

v

TR 2 FEEEO AL & D IR 2 7/ 3 {25 —ADPCME Dbit2~0
(LABE, LR LIS Z LICTLET)

v

BAL BT LR X (B(EE X2 + 1) +8

ADPCMfE ™Dbi t3

S o S
Ofm CRBT) ! ?T
PCMfE<PCMIE + ZE{ki PCMfE < PCMIE - ZE{ki
ZALFRIZ Lo T, WEIO T2 7% T

20 o TR bR TRIZ R X 5764
b= o TR bR TRIZ R X 5764 S o g b
k=2 o TR LR TRIZ R X 5764 > ALy
k=3 o TR bR TRIZ bR X 5764
b4 o TR LR TRIZ R X 7764
AR5 ... VRS Bee IR/ BN 109 2 A




v

TR EIT KT 2RO HRIT Lo T, ADPOM{E % TR &

T2 B X (+14) ~ 8=V &
TR R X (+12) 8= AL B < THIZ LR X (+14) ~8 -
TIRZEAL B X (+10) ~ 8= AL B < TR E X (+12) =8 -
FHIZE LR X (+ 8) +8={v &< THIZ L& X (+10) +8 -
FHIZELEX (+ 6) S8 E< THIZ(LEX (+ 8) +8 -
FHIZEEX (+ 4) 8T E< THIZLEX (+ 6) +8 -
FHIZELEX (+ 2) S8 E< THRIZLEX (+ 4) +8 -
FHIZEEX (+ 0) 8=/ E< TRIZLEX (+ 2) +8 -
FHIZE R X (- 2) S8 E< THRIZLEX (- 0)+8 -
FHIZEEX (- 4) 8T E< THIZLEX (- 2) +8 -
FHIZEEX (- 6) S8 E< THIZLEX (- 4) +8 -
FHIZE LR X (- 8) 8= E< THIZLEX (- 6) +8 -
TR E X (-10) 8= (L E< THIZ{LEX (- 8) +8 -
FTHIZAL R X (-12) 8= A E < THIZ R X (-10) +8 -
FTHIZAL R X (-14) 8= AL B < THIZ L EX (-12) +8 -

FAbE< FRIZLEX (-14) +8 -

(bit3=0, bit2~0=7)
(bit3=0, bit2~0=6)
(bit3=0, bit2~0=5) ‘
(bit3=0, bit2~0=4) T = — RO
(bit3=0, bit2~0=3) RiAT O FB5)

(bit3=0, bit2~0=2)
(bit3=0, bit2~0=1)
(bit3=0, bit2~0=0)
(bit3=1, bit2~0=7)
(bit3=1, bit2~0=6)
(bit3=1, bit2~0=5)
(bit3=1, bit2~0=4)
(bit3=1, bit2~0=3)
(bit3=1, bit2~0=2)
(bit3=1, bit2~0=1)
(bit3=1, bit2~0=0)

CO O~ DN Wik 01 O

— e =
Ol = W DN~ O O

v

ADPCMfiE % 4 7]

v

TFREACEIT T 2 FEEEO AL D IR 2 /)3 {2 —ADPCME Dbit2~0
(LABE, LR LIS Z LITLET)

v

BAL BT LR X (B(EEX2 + 1) +8

ADPCMAE Db t3

05 G )

|

PCMfL—PCMfE. + 28k PCMfE—PCMfE - Ak &

| |
v

1::n‘/}\

EALRIZ X - T, KRIEIDO T LB 4 T

EAL=R:0 - FRE LR —TFRE R X 5764

=1 - FA LR —TFRE R X 5764 o e o
A2 - TRE BT RIZ L EX 5764 > e
A3 - TRE BT RIZ L EX 5764

=4 - FRE LR —TFRE R X 7764

A5 - TR E—THIZE L E X 102+64

ZAeE#:6 - THIEE—THZELEX128+64

AT - FREAb R TR L X 15364

TR LR <127

TR E—127

T2 AL & > 24576

A

FIRZE AL 24576




